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Name: __________________________________



1
In the diagram below, [image: image1.png]ZABC



 is inscribed in circle O.

[image: image2.png]



The ratio of the measure of [image: image3.png]ZABC



 to the measure of  [image: image4.png]Ac



 is

	1)
	[image: image5.png]




	2)
	[image: image6.png]




	3)
	[image: image7.png]




	4)
	[image: image8.png]






2
In the diagram below, [image: image9.png]MABC

650



.

[image: image10.png]



What is the number of degrees in the measure of [image: image11.png]ZABC



?

	1)
	134º

	2)
	92º

	3)
	68º

	4)
	46º



3
In the diagram below of Circle O, diameter [image: image12.png]AOE



 and chord [image: image13.png]OB



 are drawn, and [image: image14.png]


.

[image: image15.png]



What is [image: image16.png]mBC



?

	1)
	56º

	2)
	124º

	3)
	152º

	4)
	166º



4
As shown in the diagram below, [image: image17.png]AB



 is a diameter of circle O, and chord [image: image18.png]AC



 is drawn.

[image: image19.png]



If [image: image20.png]msBAC =70



, then [image: image21.png]mAC



 is

	1)
	40

	2)
	70

	3)
	110

	4)
	140



5
Circle O with [image: image22.png]ZAOC



 and [image: image23.png]ZABC



 is shown in the diagram below.

[image: image24.png]



What is the ratio of [image: image25.png]ms AOC



 to [image: image26.png]m/ ABC



?

	1)
	[image: image27.png]




	2)
	[image: image28.png]




	3)
	[image: image29.png]




	4)
	[image: image30.png]






6
In the diagram below of circle O, [image: image31.png]msABC = 24



.

[image: image32.png]



What is the [image: image33.png]ms AOC



?

	1)
	12

	2)
	24

	3)
	48

	4)
	60



7
In the diagram below of circle O, chords [image: image34.png]DF



, [image: image35.png]DE



, [image: image36.png]F



, and [image: image37.png]e,



 are drawn such that [image: image38.png]5:2:1:7



.  Identify one pair of inscribed angles that are congruent to each other and give their measure.

[image: image39.png]




8
In the diagram below, [image: image40.png]Do



, [image: image41.png]AC



, [image: image42.png]DOB



, [image: image43.png]OB



, and [image: image44.png]AB



 are chords of circle O, [image: image45.png]FDE



 is tangent at point D, and radius [image: image46.png]A0



 is drawn.  Sam decides to apply this theorem to the diagram:  “An angle inscribed in a semi-circle is a right angle.”

[image: image47.png]



Which angle is Sam referring to?

	1)
	[image: image48.png]ZAOR





	2)
	[image: image49.png]L BAC





	3)
	[image: image50.png]£ DCE





	4)
	[image: image51.png]LFDB







9
In the diagram below of circle O, chords [image: image52.png]AD



 and [image: image53.png]BC



 intersect at E, and chords [image: image54.png]AB



 and [image: image55.png]oD



 are drawn.

[image: image56.png]



Which statement must always be true?

	1)
	[image: image57.png]




	2)
	[image: image58.png]




	3)
	[image: image59.png]




	4)
	[image: image60.png]






10
In the diagram below of circle O, chords [image: image61.png]AD



 and [image: image62.png]BC



 intersect at E.

[image: image63.png])

v,




Which relationship must be true?

	1)
	[image: image64.png]MNCAR = ADBE





	2)
	[image: image65.png]MARC ~ ANBED





	3)
	[image: image66.png]ZACB = L CBD





	4)
	[image: image67.png]






11
In the diagram of circle A shown below, chords [image: image68.png]oD



 and [image: image69.png]s



 intersect at G, and chords [image: image70.png]CE



 and [image: image71.png]7D



 are drawn.

[image: image72.png]



Which statement is not always true?

	1)
	[image: image73.png]




	2)
	[image: image74.png]LORG

DG





	3)
	[image: image75.png]




	4)
	[image: image76.png]MNORG ~ AFDG







12
In the diagram below of circle O, [image: image77.png]OF



 and [image: image78.png]ocC



 are radii, and chords [image: image79.png]AB



, [image: image80.png]BC



, and [image: image81.png]AC



 are drawn.

[image: image82.png]



Which statement must always be true?

	1)
	[image: image83.png]L BAC = L BOC





	2)
	[image: image84.png]mLBAC= % mLBOC





	3)
	[image: image85.png]MBAC



 and [image: image86.png]MNBOC



 are isosceles.

	4)
	The area of [image: image87.png]MBAC



 is twice the area of [image: image88.png]MNBOC



.



13
In circle M below, diameter [image: image89.png]AC



, chords [image: image90.png]AB



 and [image: image91.png]BC



, and radius [image: image92.png]WE



 are drawn.

[image: image93.png]



Which statement is not true?

	1)
	[image: image94.png]MABC



 is a right triangle.

	2)
	[image: image95.png]MNABM



 is isosceles.

	3)
	[image: image96.png]mBC = m/BMC





	4)
	[image: image97.png]






14
In the diagram below, [image: image98.png]BC



 is the diameter of circle A.

[image: image99.png]



Point D, which is unique from points B and C, is plotted on circle A.  Which statement must always be true?

	1)
	[image: image100.png]ABCD



 is a right triangle.

	2)
	[image: image101.png]ABCD



 is an isosceles triangle.

	3)
	[image: image102.png]MABAD



 and [image: image103.png]ACBD



 are similar triangles.

	4)
	[image: image104.png]MABAD



 and [image: image105.png]MACAD



 are congruent triangles.



15
In the diagram below of circle O, points K, A, T, I, and E are on the circle, [image: image106.png]MNEAR



 and [image: image107.png]AITE



 are drawn, [image: image108.png]


, and [image: image109.png]L REA = /RIT



.

[image: image110.png]



Which statement about [image: image111.png]MNEAR



 and [image: image112.png]AITE



 is always true?

	1)
	They are neither congruent nor similar.

	2)
	They are similar but not congruent.

	3)
	They are right triangles.

	4)
	They are congruent.
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[image: image113.png]%(zﬁn— 268) = 46




REF:
061704geo
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[image: image114.png]



REF:
062305geo
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7
ANS:


[image: image115.png]2D



, [image: image116.png]pde.



 and 24° or [image: image117.png]SR



, [image: image118.png]L



 and 84°.  [image: image119.png]


.  Since the chords forming [image: image120.png]2D



 and [image: image121.png]pde.



 are intercepted by [image: image122.png]7E



, their measure is 24°.  [image: image123.png]x 360 = 168




.  Since the chords forming [image: image124.png]SR



 and [image: image125.png]L



 are intercepted by [image: image126.png]G0



, their measure is 84°.
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8
ANS:
3
REF:
011621geo

9
ANS:
4

[image: image127.png]
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[image: image128.png]



REF:
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The other statements are true only if [image: image129.png]ADLBC



.
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